

MISSOURI - Department of Transportation (MoDOT) Lease Tractor Contract

Contract Number:	IFB605C018000207 / 60519C00836				
Contract Period:	September 25, 2017 - August 31, 2021				
Eligibility:	This is a multiple award contract with the MoDOT that can be extended to any local, county or state governmental agency, as long as use of the contract adheres to the agency's own rules and regulations.				
Quotes and Purchase Orders:					
To obtain a quote, contact your local John Deere Dealer. Submit your purchase order to your dealer. The John Deere Dealer will					
submit the purchase order to John Deere's Government Sales office.					

All purchase orders must show Deere & Company as the vendor and reference the contract number.

Contract Details

Quotes	Quotes are valid for 30 days from the creation date of the quote OR until the contract expires, <u>whichever</u> <u>occurs first</u> . All quotes created in JDQ2 have creation and expiration dates on the upper right hand corner.
Allied - Non- John Deere Equipment	None.
Credit Cards	Allowed.
Special Delivery Obligations	None.
Fees	None.
Financing	Not allowed on this contract.



Multiple Unit Discount	None.
Non- contract - John Deere Equipment	Not allowed on this contract.
Rental	 Allowed. Please see the Price Structure below for rental rates. Tractor models that meet the contract's required tractor specifications may be offered for rent. Open station tractors are also eligible for rental. All loaders are to be heavy duty with the recommended bucket and loader prep package (including dual mid valves with joystick control). <u>Rental Period</u> The lease period for 9 months begins March 15th of each year and ends December 15th of each year (minimum 300 hrs). Usage beyond the guaranteed amount will be billed at the rate indicated in the Price Structure on a separate invoice at the end of the lease term. The lease period for 12 months begins March 15th of each year and ends March 15th of each year (minimum 350 hrs). Usage beyond the guaranteed amount will be billed at the rate indicated in the Price Structure on a separate invoice at the end of the lease term. The lease period for 12 months begins March 15th of each year and ends March 15th of each year (minimum 350 hrs). Usage beyond the guaranteed amount will be billed at the rate indicated in the Price Structure on a separate invoice at the end of the lease term. Non-MoDOT agencies can rent tractors at the contract rates for ANY 9 month or 12 month period. The
Substitutions	start and end dates do not have to match those of MoDOT. Not allowed on this contract.
Trade-ins	Not allowed on this contract.
Demo	Not allowed on this contract.
Miscellaneous	Equipment must be new and of latest production model. For MoDOT to receive equipment on or before March 1st of 2018, orders must be received by October 11, 2017 for the first year of the contract. For all subsequent years of the contract, if MoDOT desires to receive equipment on or before March 1st of the next year, orders must be received by September 1st of the prior year.



Special Delivery Obligations	None.
Payment Remittance Information	Remit to Address: Deere & Company Ag & Turf CBD & Government Sales 21748 Network Place Chicago, IL 60673-1217

Price Structure

ltem Number	Tractors	Rental Term	Price
1	86-95 PTO HP	9 months, 300 hours minimum	\$15.49 / hr (\$4647 total)
		9 months, hours in excess of 300 hours	\$24.00 / hr
3	86-95 PTO HP	12 months, 350 hours minimum	\$15.49 / hr (\$5421.50 total)
		12 months, hours in excess of 350 hours	\$24.00 / hr
5	96-105 PTO HP	9 months, 300 hours minimum	\$15.49 / hr (\$4647 total)
		9 months, hours in excess of 300 hours	\$24.00 / hr
7	96-105 PTO HP	12 months, 350 hours minimum	\$15.49 / hr (\$5421.50 total)



		12 months, hours in excess of 350 hours	\$24.00 / hr
9	106- 115 PTO HP	9 months, 300 hours minimum	\$17.70 / hr (\$5310 total)
		9 months, hours in excess of 300 hours	\$26.00 / hr
11	106- 115 РТО НР	12 months, 350 hours minimum	\$17.70 / hr (\$6195 total)
		12 months, hours in excess of 350 hours	\$26.00 / hr
13	116- 145 PTO HP	9 months, 300 hours minimum	\$18.40 / hr (\$5520 total)
		9 months, hours in excess of 300 hours	\$28.00 / hr
15	116- 145 PTO HP	12 months, 350 hours minimum	\$18.40 / hr (\$6440 total)
		12 months, hours in excess of 350 hours	\$28.00 / hr
17, 18, 19, 20	Loaders	9 month and 12 month rental	\$700 total

Contract Updates

August 26, 2020 - Changed contract end date from 31Aug2020 to 31Aug2021. Added additional contract number 60519C00836 to Contract Number section. Rental rates were not changed.

January 21, 2020 – Changed contract end date from 31Aug2019 to 31Aug2020. Extension effective 1Sep2020. Rental rates were not changed.

November 15, 2018 – Changed contract end date from 31Aug2018 to 31Aug2019. Updated rental rates for lines 1, 3, 5 and 7 from \$15.70/hr to \$15.49/hr. All other rates remained the same. Effective 29Aug2018.